1) What would have happened if in 1995 Clinton and congress passed a fiscal policy that lowered taxes by $20 million and reduced government purchases by $20 million?

What affect does this have on the economy?

It depends on what the Fed does…

(a) Fixed Money supply rule:

(b) Fixed interest rate rule:

(c) Fixed level of income rule:

The Income-Expenditure Model and the IS curve

2) Suppose that the (planned) following information characterizes the economy: 

AE = C + I + G,

C = 100+0.7(Y-T)

I  = 200 – 4r

G = 100, T = 80

a) Explicitly derive an IS curve. 

b) If G were to increase by 20 (billion dollars) to 120, what is the IS curve? What is the government spending multiplier?

Liquidity Preference and the LM curve
3) Suppose that demand for real cash balances (or purchasing power) is given by the following equation:
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a) Suppose that the money supply is 200, and the price level is 1 (consistent, perhaps, with the CPI=100). Derive an LM curve for the economy.

b) If the money supply should increase to 300, what is the LM curve? 

c) Suppose instead that the price level increases 10% to 1.1 (leave M at 200). What is the LM curve? 

d) Explain why price levels may increase.

IS and LM – graphing I and II and finding equilibria:
4) What is the equilibrium interest rate and income level in this economy given by questions 2 and 3 with M = 200 and G = 100?

a) Show your solution graphically.

b) How does the economy's equilibrium change if the money supply increases by 100 (billion dollars)? Graph this. 

c) How does the economy's equilibrium change if government purchases increase by 20 in addition to the increase in the money supply (use M = 300)? Illustrate your answers to these questions graphically. Graph this.

_377422946.unknown

